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General Instructions :
Read the following instructions carefully and follow them :

(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

61/5/3

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C — questions number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — questions number 31 to 33 are Source-based questions having
three sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Which one of the following is a famous literary work authored by Raja
Krishnadeva Raya ?

(A)  Amuktamalyada

(B)  Ponniyin Selvan

(C) Kadambari

(D) Malatimadhava

If you were to create a documentary on Amir Khusrau, which aspect
would best highlight his cultural significance ?

(A)  His proficiency in Arabic language

(B)  His poetry and musical sama

(C)  His contribution to the development of Urdu

(D) His association with the Delhi Sultanate

Page 3 of 27 P.T.O.
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3.  Tfeiad & € g7 aIqen SR TA-foreedt 3 et o off<l S g Har @ 2

(A)
(B)
©)
(D)
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ST A TS 3ideT™ 9 e hisd fora
T = T AfG-farstt i stretrmr i

4. Teue o o fowts T8 Sifere o gfd Ffeiad § € R sharr-Sielt € Tifad @ ?

’

(A)
(B)
()
(D)

: TEfIREd T Fad giEaTiaa qdtenierat & o 9. 6. 4 F T W e -

TR & TeR 31 Tre” fefarfed § € fore & 6 R € 2

(A)
(B)
()
(D)
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Which of the following is a similarity between the works of Ibn Battuta

Both aimed to spread their culture
Both travelled to seek knowledge

Both focused on political history

Both criticized local customs

The sculpture of the Bodhisatta statue shown in the image below is

influenced by which of the following schools of art ?

The following question is for the Visually Impaired Candidates, only

In which of the following regions are the ‘Barabar Caves’ located in

3.
and Al-Biruni ?
(A)
(B)
©)
(D)
4.
(A) Mathura
(B) Gandhara
(C) Amravati
(D) Nalanda
Note :
in lieu of Q. No. 4.
India ?
(A) Rajasthan
(B) Maharashtra
(C) Bihar
(D) Odisha
61/5/3
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5.  TAfcTRad SIerrl ot wemrar @ Treie A or sht g shifolg :
o  HEHA U NEH Tk 200 3.9, § 200 §. 6 sT= 3T |
o TR HiTATS! 1 ATIF HHES AT fohaT 7T |
o TN Sfad o fof= weqqell W feRmiHasT YeM fehg 7 |

(A)  agEid
(B) TR
(C) 3ufwg
(D) 31

6. g Ul G § Ty I o1 firera w9 11 9 hifSie 3R 92 ferehed o1 < hifsre

@y I Ty I1

(@15 ) ()
a fa 13 fae 1. g3t & =i 1 d@ug
b. e figsh ii. guwrsieE
c. dhaw iii. & o Sig 3feE
d. meEw iv. @94 fow
forerea

(A)  a-iii, b, c-ii, d-iv
(B)  a-iii, b-iv, c-i, d-ii
(C)  a-i, b-ii, c-iii, d-iv

(D)  a-i, b-iv, c-ii, d-iii

7. FfTRad # & *h19-81 Bt IdTeal §.9. % SR Tcdsh I hl 36k HAR & WA
AT O TS ST H ST = ?

(A)  UTefAT — sl /I ISSIGAT — Toret Wi, TeR — Ft /I; 7yl — g /e
(B)  UefeAq — et AT, ISR — Teret HIT; YR — qT I Hefll — Toret Hi
(C)  TETga — Toret HITT; IS — TR AT, G — et Hl; 7 — FHs #u
(D) eI — A Wi, st — Toret w4l qer — qdt Al 7w - qest Anf
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Identify the ancient Indian text with the help of the following
information :

o Sanskrit text compiled between ¢. 200 BCE and 200 CE.

o Provided a comprehensive code of laws.

o Offered guidelines on various aspects of social life.

(A) Manusmriti
(B) Ramayana
(C)  Upanishads
(D) Vedas

Match Column I with Column II regarding the Buddhist texts and choose
the correct option from the following :

Column I Column 11
(Buddhist Text) (Description)
a. Vinaya Pitaka i. Rules and regulations for monastic order
b. Abhidhamma Pitaka 1ii. Chronicle of the island
c. Dipavamsa iii. Regional histories of Buddha
d. Mahavamsa iv. Dealt with philosophical matters
Options :

(A)  a-iii, b, c-ii, d-iv
(B)  aiii, b-iv, c-i, d-ii
(C)  a-i, b, c-iii, d-iv
(D) a-, biv, c-ii, d-iii

Which one of the following correctly associates a city with its primary
route of communication during the sixth century BCE ?
(A) Pataliputra — Sea route; Ujjayini — Land route;
Puhar — Riverine route; Mathura — Coastal route
(B)  Pataliputra — Riverine route; Ujjayini — Land route;
Puhar — Coastal route; Mathura — Land route
(C)  Pataliputra — Land route; Ujjayini — Coastal route;
Puhar — Riverine route; Mathura — Sea route

(D) Pataliputra — Coastal route; Ujjayini — Land route;
Puhar — Coastal route; Mathura — Sea route

Page 7 of 27 P.T.O.
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8. i 3 e U MU &, A (A) R FR (R) | 3oh! WA Ufeq IR &l
IEETSEIRCREETI I
ST (A) . I 9RA o TsHITdeh 3fder™ sl gmeH & foe Svg 58w 1 &
el o |
FRU(R) : ARG ot GHF H TSHITdeh ATl 3 IR & a1 § SRRy
et 21
forerea
(A)  3feReA (A) 3R RO (R) SFT @&l § 3R FRor (R), 31fsmmed (A) it @&t
T HAT R |
(B) SR (A) R HROT (R) AT €T &, T HROT (R), AR (A) 1 &=t
T T T ¢ |
(C) AR (A) HE R, T R (R) T 2 |
(D) AT (A) TIeTd &, T R (R) W& 2 |

9. fyafaRaa @ H-dt 7ervyra & eaH Wei i fommar g 2
(A) 99 ITiieh foremor B @
(B) W FeTi-al T €UE §
(C) T4 T STIBMI T a0 &
(D) 7 TRk == §
10.  ESUT THIS o Hiax GrHTISeR NTarstl ol STerad i o g qawetaet R SuamT
1 ST et yrerfies fafer frefafaa o @ wa-dt 2 2
(A)  HEA sh kT T hAT
(B)  H&Ul shl SIS T [orRetyor HLAT
(C) TSI shl T T
(D)  ©TfHeh TIdTSAT ohT STEII FHEAT

11, fofest gru simer # &0y fore e wrted s o, Fraffea ffer st sied & weer T
YA 7 %G 31 fFfoifad o & s qiomm grar ot 2
(A)  TaH SFafer et &t St off |
(B)  sTefiqr} bt ety ot fa=m S o |
(C) TSI o U ol W L TSAT SITaT 97 |
(D) U I 3o ARATAT T HSTT ST T |
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8. Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :
Assertion (A) : James Prinsep’s work was crucial for understanding the
political history of ancient India.
Reason (R): Deciphering inscriptions provided insights into political
events and rulers.
Options :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

9. Which of the following is a characteristic of the narrative sections of the
Mahabharata ?

(A)  They contain economic descriptions
(B)  They contain compiled stories

(C)  They describe cultural rituals

(D)  They are philosophical discussions

10. Which of the following is the primary method archaeologists used to
study social differences within the Harappan society ?

(A)  Studying cropping pattern
(B)  Analysing designs of seals
(C)  Examining burial customs

(D)  Studying religious beliefs

11.  Which of the following was the consequence of not paying the revenue by
sunset on the specified date under the British Sunset Law enacted in
Bengal ?

(A)  The payment period was extended
(B) The Zamindari was put on auction
(C)  The revenue rates were reduced

(D)  The case was referred to the High Court
61/5/3 Page 9 of 27 P.T.O.
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ST A Ffafea & & fora Hifa & wror wwdir Afet § sy et gem, fem
1857 o fagie & Jrer fear 2

(A)
(B)
(&)
(D)

RHRERIPEARIIT]

SIS oAt forerar fifar

(il SfTeT HIAET oh AT TAhIES USHA! b1 IHATT
TTeITed {37eT Soredt sht yreeTd

& T8 SIeRRT T TETHaT @ 1905 o WA TS TSI o T shl &= shifwiy |

I AT “ATA-STA-ITA” TTH TRt o 8T o, S forf¥= Jidi € 8 o S1asg
ot 3ok 1ftaer vt =i =t aetiar o |

I HERTE & 9 |

(A)
(B)
©)
(D)

EISRIUIS RN ED
TiTq fog

ATAT BLEATA
ATAT TSI TT

T @1 o Had H (FfcTRad § & shiH-41 SISt |el gHfed @ 2

(A)
(B)
(®)
(D)

o

@yl @y I1
(@faerm g #1 afifaar) (3ET8)

From wfufa N EININE RS
oo w1k affa - T

oo e afufd — ST M
Ticher G afufa — oIS U

ELSIN

(A)
(B)
(&)
(D)

Raa o & 3w (3nfem) & w@iaem gy i afeer geer i o ?
T HEdT

g e

Tt et

AT L
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12. Which one of the following policies by the British led to discontent among
Indian soldiers, contributing to the Revolt of 1857 ?

(A)  The policy of Subsidiary Alliance
(B)  The Doctrine of Lapse of Dalhousie
(C)  The use of Enfield Rifles with greased cartridges

(D)  The introduction of western education system

13. Identify the leader of the Indian National Movement in 1905 with the
help of the given information.

. This leader was a part of the trio known as Lal-Bal-Pal, signifying
their all-India character despite being from different provinces.

o He belonged to Maharashtra.

(A) Bal Gangadhar Tilak
(B) Bhagat Singh

(C) Lala Hardayal

(D) Lala Lajpat Rai

14. Which of the following pairs is correctly matched regarding the
Constituent Assembly ?

Column I Column I1
(Committees of Constituent Assembly) (Presidents)
(A)  Rules of Procedure Committee - Jawaharlal Nehru
(B) Union Power Committee - B.N. Rao
(C)  Union Constitution Committee - Bal Krishna Sharma
(D)  Provincial Constitution Committee — Vallabhbhai Patel

15. Who amongst the following was the female member from Orissa (Odisha)
in the Constituent Assembly ?

(A) Hansa Mehta

(B)  Durgabai Deshmukh
(C) Malati Chowdhury
(D) Renuka Ray

61/5/3 Page 11 of 27 P.T.O.
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16. IR ST TN o T § e o Uty | FrfeiRad | O wet foeheq Y gg=m Shifsiq |
L. oS LRI F 2T oh RN shl ST o ToTT Ueh ST AT <hT TATAT o6 |
II. 1878 H aaehd <1 oht Rt fsifeT €ere | weqa o1 77g |
1. AT &t fdie O et TeaereiRia & are forarwor et o |
IV.  Sire SisRar H i SR ATgehRl o SR &St R T 9 |
forerea .
(A) I, II3RIII
(B) II, III 3R IV
(C) I IIARIV
(D) I II3RIV

17. e 31 Fud QU T €, AR (A) 3R FROT (R) | 901 SAHYEH TiGT TR T
[CERGEIICREEAIE 1
HFT (A) : TATS Acksell GRT I hl TE TS EIRT JoIredt § Wit R s

FHThT HHSIT L T |
PR (R) :  TETH Gl o ded WA IEeht 7 AU &= Tramar @i & |
forepea .
(A) AT (A) 3R FHROT (R) IHT Fal & R FHROT (R), ANTRAT (A) AT qat
ST FAT R |
(B)  SIfvehe (A) R RO (R) T H&T €, T 0T (R), SAeher (A) 1 @&t
AT T&1 AT g |

(C) SR (A) |&l &, W R0 (R) TTeAq & |
(D) 3Af¥he (A) TTed &, T 0T (R) Tt 2 |

18.  Tmfaifaa # @ Sferd forshew @ Tk werm o6t gfid <hifs
SR SRR ST 9IS I1eg o1 TN Fhld =, el GHeRTA T <1l o 3H “SHA1eHh

> ERT Al |
(A) &
(B) wHsIq
(C) =W
(D) HHsT
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16. Read the statements about the Deccan Riots Commission. Identify which
of the following options is correct.

I The Government of Bombay established an enquiry commission to
investigate the causes of the riots.

II. The Deccan Riots Report was presented to the British Parliament

in 1878.

III. The Commission’s report included only qualitative data from the
eyewitnesses.

IV.  The enquiry process involved recording statements from ryots and
sahukars.

Options :

(A) I, II and III
(B) II, III and IV
(C) LIlandIV
(D) I, III and IV

17. Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :

Assertion (A) : The Subsidiary Alliance system introduced by Lord
Wellesley, significantly weakened the Indian Princely
States.

Reason (R): Indian rulers lost their military autonomy under the
Subsidiary Alliance.
Options:
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

18. Fill in the blank with the appropriate option from the following :

While historians use the term VlJayanagara Empire, contemporaries
described it as the “Karnataka

(A) Hampi

(B) Samrajyamu
(C) Nagara

(D) Empire

61/5/3 Page 13 of 27 P.T.O.
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SR A JITeT AIHISE F1 g1 HIHE] TTad € F1, SR G99 &9 G ¥R 4 41 gafd
HIYFHR] %1 FH] ] AT 1 |

T AT ST o ST AT ek T T h¥ ST & 2
(A) YR e H GHTETE 1 G

(B)  Tperar ot weld ST Rd i ATt

(C)  TIsft Hufr 1 THe, A ohl HHR GHHT

(D) IR A e 26T 2B  fovame

fefeifiad # @ =hiH-8T foehed WA § 9T i o Hel ShielTehiish hH ol SMidl

I SIS ohT ITTETRTA

II. 3Tehsl{ <hl AT
II1.  SIESIET T MEARA
IV.  ST&NfR e ITehTe
e :

(A) L ILII, IV
(B) IIII, 1V, I
(C) TIILILI, IV
(D) IL1IV,IIL, I

Ife 9 e o e K e Aifaal it toa e faftRl woamy W=
R® & a1 “37157-U-37hsl” w1 FeAfctiRad & & shia-a1 9nT ge9 31feh gTefires SRy
& T 2

(A)  EfSA-STTeTET
(B) fug-srE

(C)  Heoh-3ATETel

(D) TFR-TAT
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Bernier compared the Mughal Empire to the French monarchy, and

particularly criticized the absence of private property rights in India.

How does this comparison reflect Bernier’s own socio-political context ?

(A)
(B)
(&)
(D)

Advocacy for feudalism in Indian governance
Support for absolutism and critiquing India
Support of private property, leading to underestimating India

Belief in the superiority of European legal structures

Which of the following options represents the correct chronological order

of Mughal rulers in India ?

L Reign of Aurangzeb
I1. Reign of Akbar

ITI. Reign of Shah Jahan
IV.  Reign of Jahangir
Options:

A LILILIV

(B) ILII,IV,I

(C) ILILI IV

(D) ILIV,IIL I

If you were researching the economic policies and revenue collection

methods of Akbar’s reign, which of the following sections of the

Ain-i-Akbari would provide the most relevant information ?

(A)
(B)
()
(D)

Manzil-Abadi
Sipah-Abadi
Mulk-Abadi

Daftar-e-Nau
Page 15 of 27 P.T.O.
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[CLERC)
(TI-ITRT ThR o ) 6x3=18

(%)  HETHRA o GHTCAEHTCHe SERTUT 3l AR i H ot T8, ehelieht 3T 3T S
ST 3TYATS 715 TTshATAT T Ui ShIfsTT | 3

AT

(@) HENId e oh SR UTETER et sl THTferd i aTet foramg o fafs=r yeemt

T U ST | 3
“TATY T R H Toh W TSHITAoh g o T |7 IaTEI |ed e i Sare
FHIT | 3
(%) eIl VT foh 3T Tk SRS & ®9 § FerHaH! fSear W IS
AT T YAHION 3 T8 © | 590 Hl shl SReehell STTTeh! &1 o USTehid TR
T THEH T 5 TeE Ul ? T I | 3
3TU>AT

(@) AT HINY foh o1rd fosRTR wmrsT § TR SR ATt sht qiHeRTsl
HEAT L T8 § | Il TR TS 4 HIHTST shi [Eoar ot R el
TTAT ? T I | 3

W STl | T sl wETiSieR SR STieie At i forw Serr i foram 2 owg

Fifsre | 3
TSRS TRTTSAT sht 1 ifeTen foRiaaredy F UgTieam A o Siia ol e THTfed Tt ?
T HITIT | 3

HITETT T 1 I T Teh T HIY MRS’ o &9 H A o GIhI0 bl Hll
Tfafsiferd st & 2 T8 I | 3
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SECTION B
(Short-Answer Type Questions) 6x3=18

(a)  Describe the processes adopted by V.S. Sukthankar and his team
in preparing the critical edition of the Mahabharata. 3

OR

(b)  Describe different patterns of marriages that influenced familial

relations during the Mahabharata period. 3

“Magadha became a prominent political centre in the ancient India.”

Explain the statement with examples. 3

(a) Imagine yourself as a historian reconstructing the events that took
place on the Mahanavami Dibba. How would the architecture of
the platform help you to understand the royal ceremonies ?

Explain. 3
OR

(b)  Imagine exploring the roles of the Rayas and the Nayakas in the
Vijayanagara Empire. How did their administrative roles influence

the empire’s stability ? Explain. 3

Examine how the Mughal Panchayats influenced social and economic

policies of the village. 3

How did the geographical features of the Rajmahal hills impact the lives
of the Paharias ? Explain. 3

How did the ‘Objectives Resolution’ of the Constituent Assembly reflect

the vision of India as an ‘Independent Sovereign Republic’. Explain. 3

Page 17 of 27 P.T.O.
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Qs T

(FrE-3TT THR F T9) 3x8=24

28. (%) W= WU ok AIHAT Bl H ARl oh Al BT el TehIshLoT [oHAT 7T © 2 0
it | 8

(@) quitres feig e 3T witheeTsh TSl o sft=l Sl ol 0@ ahifae | 8

29, (F) AMGR AR TER Gdl 4 dfder vl Afele & o o fhe YR Jnem
feam 2 SeTetvn afea Ts Aifsr | 8

AT

(@) ST GRT Y& 6 7T AR O A HERpi Fiesh § gifHen I amiieien
U AT 7 8 ATar feam ? Jareon |ied w7 Hifsr | 8

30. (F) Tl FT IR BT ATSIAT o et TR IRAAT H TSI Tl T ST 1T
1 SGTET ST T | ST qoh! ST He hl —ARFETT 3EUFT | 8

YT

(@) T Sl HAQTerHT § TSt *ht siHehT st e fofv= @il & AJregm §

ST ST HohdT 2 | S hl =ITIETd 383U | 8
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28.
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30.
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(a)

(b)

(a)

(b)

(a)

(b)

X EE 0

SECTION C

(Long-Answer Type Questions) 3x8=24

Examine how the sculptural elements are integrated within the

architectural framework of the Sanchi Stupa.
OR

Examine the relationship between Puranic Hinduism and

devotional practices.

How did the Alvars and Nayanars contribute to the development of

the Tamil Bhakti Movement ? Explain with examples.
OR

How did the Virashaiva tradition initiated by Basavanna
contribute to the religious and social reform movements in

medieval Karnataka ? Explain with examples.

“Gandhiji’s approach to the ‘Quit India Movement’ involved
fostering a sense of national unity among Indians.” Justify the

statement with suitable arguments.
OR

“Gandhiji’s role in major political movements can be traced

through various sources.” Justify the statement.
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LG o)
(ENA-ATHTIE T9T) 3x4=12
31. TRUICEN I AMHYEF qieT R = T 1T a1 o I S ; 1+1+2=4
1857 % gt fagigh
e 7

318 A IR JaRT o SSIq G o Toh o1 T11el o T& aTcl of | I8 T SITE gwal ¥ Taig
T & S =R 3 (SR i) 5 S g o | 39 ek i S RS i gl
H N 3 3T off | 7T fon firgh awreft 1w oft | sga wr amefior s 9 ofiw @ farfem
VTSI SATET T THFRRT HIFA o : TR shi ST SATaT 3R Fel! &ved off | Tfis 8
o7 for foramat Y S st AT o6 =1 § 7 @ oY | ST ° A Il SAaRT 31
TETSH ST 9T FosT hld ST e o |

T8 A A =T 36 o GRIATHAT SR FHRdepil shl €TiSd FohT | 58k foAq 32 T o
T ¥ -1 ST ST sht 3T AT Rl ST o e 3t o fore dam fomam | siga
TR A T H @ TRl f SIS faed At e e § asda a
T | 31 forty It 3K 1= o qa g1 o flae® g o | fore oo @
B fohct U2 ST HETSHI o SATATRAT o SR e A | sSlewged speatvi | fed
bl STHIAT OX SIS shosTT L ToTaT | 9178 Wel o SATEfRIT + Skt SRl oX gHer fopa,
T T Gt e L A SR okl TSeh ol @ie ST | 34l T oig u off foh
GTHT BIST 2T AT UhAT <ITed o | GO a1sTe 78 off foh Ieil ST Tgehi shi forfear s
=T JelTeh T ST of | 36 fooett o fosie & ot faafedt 1 e agams 3R
forfeer SedaTet 9 tHa & s qHT TRehR] §eR sig o T3 | T Tl o) ST el
T IME HA o Teh IS ITHET o STA H S ST, 38 “T I~ a1 A1 3w 37K
IR © FTS! SR foraTal T HHAT FA T | IR T T ot SIS Hearh T
T o1 | e @ o foTw AR st < foh TRt TSt e &1 (et @ ST 3R U
IR

SIS 1857 H M8 7 b I H AR f&am 7 |

(31.1) T8 0 o =Iqcd + 518 % THR H oF¥ INEH 33T ?
(31.2) T8 HSA o6 ~Ifcal H forze ST G b fohd o <Al T 2 1
(31.3) SITE HA ST AT HI Shl TATIT 3o T o GIUhIUT okl hdl Gl § 2 2
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SECTION D
(Source-Based Questions) 3x4=12
31. Read the given source carefully and answer the questions that follow :
1+1+2=4
Two rebels of 1857
Shah Mal

Shah Mal lived in a large village in pargana Barout in Uttar Pradesh.
He belonged to a clan of Jat cultivators whose kinship ties extended
over chaurasee des (eighty-four villages). The lands in the region were
irrigated and fertile, with rich dark loam soil. Many of the villagers were
prosperous and saw the British land revenue system as oppressive: the
revenue demand was high and its collection inflexible. Consequently
cultivators were losing land to outsiders, to traders and moneylenders
who were coming into the area.

Shah Mal mobilised the headmen and cultivators of chaurasee des,
moving at night from village to village, urging people to rebel against the
British. As in many other places, the revolt against the British turned
into a general rebellion against all signs of oppression and injustice.
Cultivators left their fields and plundered the houses of moneylenders
and traders. Displaced proprietors took possession of the lands they had
lost. Shah Mal’s men attacked government buildings, destroyed the
bridge over the river, and dug up metalled roads — partly to prevent
government forces from coming into the area, and partly because bridges
and roads were seen as symbols of British rule. They sent supplies to the
sepoys who had mutinied in Delhi and stopped all official communication
between British headquarters and Meerut. Locally acknowledged as the
Raja, Shah Mal took over the bungalow of an English officer, turned it
into a “hall of justice”, settling disputes and dispensing judgments. He
also set up an amazingly effective network of intelligence. For a period
the people of the area felt that firangi raj was over, and their raj had
come.

Shah Mal was killed in battle in July 1857.
(31.1) How did Shah Mal’s leadership contribute to the spread of the

rebellion ? 1
(31.2) How did the rebellion led by Shah Mal challenge the authority of
the British ? 1
(31.3) How does Shah Mal’s establishment of a “hall of justice” reflect his
vision of governance ? 2
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32. TRUIICHN I AMYEF TieT R A= T 1T a1 o I S ; 1+1+2=4
ST Y ARt

e qoh RATT STHETET H 2000 & e g1 qdTcas €A @IS ST o 3 |
HATRRIRT ToreT e I read et =t o st fearq o1 ST € | o 2/3 it
Tt S | €, ST 3HeT STcfie e SRl © | Ofe e el ol e Al TS |
o 8 — T, HigIIee!, TS0, Seei iR Taarar | 3 fafi= Sfori & aef
5, FY T, SEUTE SR fAfmior Fz 7 € |

(32.1) ] ST | ST SRAAT shl TEFAT o Hewd ohl T hIfT |
(32.2) BSTIT AR o AThL0T o HE ohl 0@ ShITIT | 1
(32.3) TSI ATEHAT ! ST T H AT T SfHHT hi T HITSTT | 2

~

33. TRUTT N I LAMYEe qfgu AR =t faq 1g ST o I i ; 1+1+2=4
oiae O Feherar weft

I8 R § Ter 1T Uk 30T € -

HO STH TAT AISTE & W A TR T AT § 3Tehart &t e ue, fomm forelt
qrefl ATA.... AT FHRAT o STEehT et 8 & MO 81 T, Tifoh 3O 37aX Teh STt
HTRT I 57 Tfeg qUaeeri i 3@ i §20T S ol 90 & HL 3fd:or 7 off, 9
T B | FHfIT A 319 T o1 St T & fer i1 g ok ofit st s =t
Y SIS T Y gafl 39 =iee i 81 4d ... 39 99 5 37 argd ay of |

T SIAT 1354 H SR ST0™ GgT, 3T ATAT ST LA o ST 1 o o71< |

(33.1) o ST o Y€ o Hawl H qafl o Hieel1 Big & Tdlharg &l faiwr hifv | 1
(33.2) 37 SIAT bl U ATAT 6 S TS FohElt T TN b1 fergereor hif S | 1

(33.3) &I o €l H 3o ST oh1 ATAT oh HE T fIeeiwoT hifST | 2
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Read the given source carefully and answer the questions that follow :

1+1+2=4

Harappan Settlements

So far, more than 2000 Harappan archaeological sites have been
discovered in the Indian sub-continent. Most of the sites are found
located between the Indus and the Saraswati River basins. Nearly
two-thirds of these settlements are in the Saraswati basin, suggesting its
immense importance for the Harappan Civilisation. Among these, five
major cities have been identified. These are Rakhigarhi, Mohenjodaro,
Harappa, Dholavira and Ganweriwala. The remaining sites come under
different categories such as Regional Centres, agricultural villages, ports
and manufacturing centres.

33.

(32.1) Examine the significance of the concentration of Harappan
settlements in the Saraswati Basin.

(32.2) Examine the importance of classifying Harappan sites.

(32.3) Examine the role of rivers in sustaining the Harappan
settlements.

Read the given source carefully and answer the questions that follow :

1
1

2

1+1+2=4

The bird leaves its nest

This is an excerpt from the Rihla :

My departure from Tangier, my birthplace, took place on Thursday... I
set out alone, having neither fellow-traveller... nor caravan whose party I
might join, but swayed by an overmastering impulse within me and a
desire long-cherished in my bosom to visit these illustrious sanctuaries.
So I braced my resolution to quit all my dear ones, female and male, and
forsook my home as birds forsake their nests ... My age at that time was
twenty-two years.

Ibn Battuta returned home in 1354, about 30 years after he had set out.

61/5/3

(33.1) Analyse the symbolism of the bird leaving its nest in the context of
Ibn Battuta.

(33.2) Analyse any one challenge that Ibn Battuta faced during his
journey.

(33.3) Analyse the significance of Ibn Battuta’s journey in the context of
culture.

1

2
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LG s
(AT fRrE-STTerTiia T ) 3+2=5
34. (34.1) WA % G T ASHTTF W@T-AME (T8 27 W) ¥, fefafad # sugad
fagt @ 2ifshra HifSTe 3 37 7™ foifae 3x1=3
(i)  SHUEd - &

(i) e - foy =t e

(i) (F) TS — AT o 0T ATt &t
3T

(i) @) fooTR — oS ST Fi aeeT

(34.2) WRA % $ET WI-AFRE T YA TSI SieIa O Heferd &f sheal sl ‘A’
3N ‘B’ § 3iferd foram T ® | SR TRSITT 31T Ik Gl AT 3ok R
=t 78 TEeT W fafau | 2

qie : FEfad S99 FFae givaTtara adterfefat & ey, €. 34 H T W3

(34.1) T qRa § feora foheel 31 UT=fia oitg, Treti o1 Seoi hifvTy | 2

(34.2) (%) T WTHTST o e Torell ToF &1t 1 Seeid shifoIg | 1
arera

(34.2) (@) fasar amETsT St TeteTET @ A fefay | 1

(34.3) 1857 o ToRIE o fohal Gl el T ool ehiteIg | 2
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SECTION E
(Map-Based Questions) 3+2=5

34. (34.1) On the given political outline map of India (on page 27), locate
and label the following with appropriate symbols : 3x1=3

(i) Amravati — Stupa

(i1) Banawali — Indus Valley Site

(iii) (a) Ajmer — Territory under the control of the Mughals
OR

(iii) (b) Vijayanagara — Capital of Vijayanagara Empire

(34.2) On the same outline map of India, two places have been marked
as ‘A’ and ‘B’, as the centres of the Indian National Movement.
Identify them and write their correct names on the lines drawn
near them. 2

Note :The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention any two ancient Buddhist sites in Central India. 2
(34.2) (a) Mention any one territory under the Mughal Empire. 1
OR
(34.2) (b) Name the capital of Vijayanagara Empire. 1
(34.3) Mention any two centres of the Revolt of 1857. 2
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For question no. 34
e, AT T YT — AT (A feR)
L . _ Outline Map of India (Political)
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